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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions.
e - Tw ywA-w ‘e, ‘T SR ‘R W mmel § fawifsa ©
Y% TUE & FRIIER T9 &% IW I |
Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Examinees have to attempt all questions. Each
question is of 2 marks and maximum word limit

may be 30 words.
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1. Give answer of the following questions :
Fr=farea FITFﬁ & IW Eﬁﬁl@ :
(1) Mention any three characteristics of data.
T i fh=l dF faRroasT 1 Seoig St |
(i) What is Questionnaire ?
e F ¥ ?

(ii1) The average weight of 150 students in a class

is 80 kg. The average weight of boys in the
class i1s 70 kg. State the number of girls in

the class.
TF we H 150 i @ siaa wr 80

¥ e § oedl w1 siEd YR 70 T ') wen
T TTefdl & & TdEu|

(iv) Write the objectives and importance of

dispersion.
TR0 & IeRT U He faren |
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(v) Write the formula of Karl Pearson coefficient 4. The score in Statistics is as follows. Draw the

of skewness. cumulative frequency curve and find the median :
forsman 7ok o1 e frEE w9 e Marks No. of Students
(vi) Define negative correlation. 0—10 4
HUMHE Fedw4 ol TR it | 10—20 6
(vii) Definition of Time Series. 20—30 10
HTAAOT I qRYTE Elﬁ'ﬁ“I'QI 30—40 10
Section-B 4x7=28 40—50 25
(Short Answer Type Questions) 50—60 by
Note :— Section-B contains 8 Short Answer Type 60—70 18
Questions. Examinees will have to answer any four
. . . 70—80 5
questions. Each question is of 7 marks. Examinees . . . .
have to delimit each answer in maximum wf@qaﬁ H Wi TW YRR €1 GO A o Sy
200 words. T HEAHT [ IS -
U WTwich ferenférat =t "
(g T q99) 0—10
o - Toe-9 # 8§ @Y S THR & T3 &1 weeE w 1020
fr=l o g9 & SR I Y| USSR U 7 BT HI
T qhenfiEdl w eifusmag 200 v H yE S 20—30 10
iEifa wE ¥ 30—40 10
2. Write the general rules of diagrams method. 40—50 25
oz v & 9w e fafe 50—60 22
3. Write the short notes on fwo dimensional diagrams. 60—70 13
S sTRE W wida Ae fafen 70—80 5
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5. Write the essential properties of an ideal average. frfafen siiwgl #t FeEm ¥ Y &1 X T Fdrowm=
IO T UMD HifSIT
ST AL &% OIS qd fafe |
) X 10 12 14 16 18 20
6. Write a short note on skewness.
faoma W s @y fewoit wifsw

7. Prove that :

Y 5 8 21 24 18 15

Section—C 2x14=28
(Long Answer Type Questions)

a b c Note :— Section—C contains 4 Long Answer Type

a-b b-c c—-a Questions. Examinees will have to answer any fwo

-3 3 _
bic c+a a+bh =@+ b+ O - 3abe questions. Each question is of 14 marks.

Examinees have to delimit each answer in

ag #ifvq maximum 500 words.
; G us—H
¢ ‘ (g I q99)
a=b b-c c—d _ 513,58 34 et - wve-u § 4 frararerE Tv §1 wdanfet @ feer 9
b+c c+a a+b AT % ST S €| W U9 14 el i ¥ 1 et

1 eIfrRan 500 YISl § YoE S uREifEd A
10. Distinguish between primary and secondary data.

8. What do you understand by Chi Square Test ?
FE T G0 ¥ T F R § 2

9. Calculate regression coefficient Y on X of the data and give their comparative merits and

following data : demerits.

Hfaes Ua fgdiaes vl § SR oasy | Wmafies THen]
@] Hehfad & &t fafys dfqd o T sifse @i
Y [ 5 | 8 | 21| 24| 18 |15 ey A T
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Explain the various methods of compiling primary

X 10 12 14 16 18 20




11. Find out the Standard Deviation and its coefficient 12. What is the association of attributes ? Write the

of the following series : types of association of attributes. Give a suitable
Size Frequency example of the association of attributes.
10—20 5 T W R T ? TN W % TR fafaw) o
2030 g T T ST IQTEL0N GITSIU |
3040 21 13. Solve the following :
40—50 24 (1) Write the properties of determinants.
50—60 16 (i1) Solve the equation from Cremer Rule :
60—70 15 4A + 5B + 3Z =13
70—80 7 6A —-4B -7 =-3
80—90 2 ISA+B+4Z=0
Frafafea Soft o1 yom foeem IR 9@ o 9@ frfafea =1 @ wisT :
FIT () wwfoes %1 famand e
RN st (i) Frfafen T w1 W fm § e Fi
10—20 5 4A + 5B + 3Z =13
20—30 8 6A — 4B - Z = -3
30—40 21 18A + B +4Z =0 7+7
40—>50 24
50—60 16
60—70 15
70—80
80—90

EC-05/720/8 (7) Turn Over EC-05/720/8 (8)



